[ Efficiency vs vertpos |
~ 0.05

9.045
4
20.04
(8]
$.035
[
£0.03
0.025
0.02
0.015
0.04
0.005

1.0

Ratio

0.95 : :
1072 10 1 2

10 0
TP vertr (cr%)

—=— DQM_mKFit_TT_base

Effici —e— DQM_mKFit_TT_retrain_noCandDNN
ICIeNd __,__ DQM_mkFit_TT_retrain

N 0.
L o A T
1) . . . . .
2 0.08 : e R | P
> : : : : :
2 : : : : :
e S e
o : : : :
£ 0.06] : R RRERRE
o : : : :
X i I Ik SR S
0.0aF e flo
0.08F -+ ol
0.02 : '
0.0]
%

0.8

Ratio

0.6

10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.05
>

00.045
1S : : : :
| S
2.035f- - et
P : : : :
€ 0.03F------ A
o : : : :
D025 oofreeer e
9} : : : :
0.02f -y fieesseefreesrecfeeeoens b
0015k T
0.01 ; ; ;
0.005

q

0.8

T

T TTTTT

Ratio

ooft -+ S I 4L
-10 5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


